RETAN EHE SWLWE 02

ROGIHEEZE L. (SHket, Afk12%, B#k25#, C#k 40 )

(1) —42 (2)  (-5)?

3 -1 4)  (-2)3

ROFE T L. (SH20F, A0, B0, C#H15208)

W (=87 (2) (-2
® (=241 (4) 24 (-3)2
(5) *62 — 33 (6) 62 o (714)
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3. ROHEEEL (SH6™, Afk128, Bf#f25#, C 405 )

(1 32 (2 (—6)?

3 -3 (4)  (-1)3

4. ROFHEEE L (S22, A3, Bfk14r, CH%14 308 )

W (=77 2 —(-3)*
(3)  (=3)3+1° (4) 324 (-2)?
(5) —32-43 6)  —5%—(-19)
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RETAM 5tHE 3WE 02 @BERH

1. XoiHEzZEX. (SHhe, Afk12F, B 25, C #4140 )

* Omin o ormes
(1) 42 (2)  (-5)?

= 4x4 = (=5) x (—5)

=—16 =25

P42z T—) 3oL A4 X =2, Yo T—1 ®2FIF T+

ZI) BTN T2 MEE L, RITH2 252 5.

3 -1 4) (=23

=—-1x1x1 =(-2) x (-2) x (-2)

=1 =—8

e 13T T—) oA XA =2, Yo T—1 ®»33F T—,

FIHIEZ TR S ZMEEL, RIC 23 252 5.

2. XoitEEE L (S0, A#30F, B0, C #1208 )

1 (-8 (20  —(-2)*
= (=8) x (=8 = —(=2) x (=2) x (=2) x (=2)
— 64 — —16
Yo T—) ®2%IE T+, Yo T—y O5FlE T—
(3) (-2 +1° 4) 24 (=3)?
= -8+1 =8+9
— 7 =17
(5)  —62-33 6) 62— (—1%
= —36— 27 =36—(-1)
— _63 =37

YR — (-1 =—(-1)=+1
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3. ROHEEEL (SH6™, Afk128, Bf#f25#, C 405 )

(1  —32 (2  (-6)?
=—-9 = 36

(3) =33 4)  (-1)3
— _—27 =—1

4. XoiEEE X (S22, A3, Bf14, C#H1530%)

(1) (—=7)? (2) —(—3)
=49 = —81

(3) (=3 +16 (4)  324(-2)°
=-27+1 =9+ (-8)
= —26 =1

(5) —32-43 (6)  —5%—(-19)
=—9—64 =-25—(-1)
=73 =—-24

FHEE - (-19 =—(-1)=+1
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